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We will start our discussion of Quadratic Equations with an example
Example: Find the solution(s) to:
(x—=3)-(x+2)=0
Here, we have two numbers multiplied together to get 0
The two numbers we multiply together are (x — 3) and (x + 2)

either:
(x—=3)=0
The first equation can be solved by adding 3 to each side to get:
x=3
(x+2)=0
The first equation can be solved by subtracting 2 from each side to get:
x = =2

Conclusion: The solutions to (x —3) - (x +2) =0 are: x =3,-2


http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Zero-Product_Property.pdf

